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1. Graph the point (-4, 3 ) and label it A. 2. Fill in each blank to name four possible coordinates

forpointM. -2x<0<2x;
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For #10-11, solve for principal values, Then solve the gg%eral expressions in #12,13 by finding two
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Reminders: 1= 4/ Y+ UB‘V or r’= K + %7: tan0 = -—?Z x=_ (o5& = rane
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14. Find the polar coordinates of the point with rectangular coordinagés ( 3, 5) ¢ sure that 0 <@ < 27 for your final solution.

Show work. Express r as an exact value and 8 in radians Q
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15. Find the recfangu!ar coordinates of the point wnh polar cooi
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Simplity #16-18. Show all steps.
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19. Express 4 + 4i in polar form. Show work.
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21. Identify the modulus and the argument (show work), then find the ?rdd"‘\”. Express answer i@rm.

4(cos 27 + isin 27) * 3(cos T«
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22. Identify the modulus and the argument (show work), then find tHé qlutren‘l“ﬂx‘p‘l'é‘ss answefin polar form.
6(cos 3z + isin 3z )+ 4(cos 3z + isin 37)

(/'——'__—_—_
2\ 4 4 = %CCOS’,*'*(QYI'T;)
Vnodwlu-‘l‘.f;- i :
¥
23. Use De Mowre 8 Thé‘orem to f‘:f nd (2 + 24/31) . }éxpress your §how work.
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Write the given equation in polar form.

24. y=12
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(HINT: use substitution to solve.)
25. X2 +y:-2x=0
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Write the given equation in rectangular form. (HINT: use substitution to solve.)
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20. Express 2(cos 5z 57r + isin 57) in rectangular form. Show work.

Hint: simplify as is.
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